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1. What kind of reaction is this? And write the mechanism of the formation of 2 from 1  

2. How would you convert 4 from 3? 

3. How would you synthesize 6 from 5 in 3 steps? 

4. How would you synthesize 1 from 6? 
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Solution 

1.  Domino Eneyne/IMDA reaction 

Mechanism of eneyne metathesis 
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Catalytic cycle 
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Tandem Eneyne/IMDA reaction: 
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Eneyne reaction in absence of ethylene atmosphere leads to RCM product. 

 

OPiv O

O

OPiv

1

Grubbs' II (15 mol%)
toluene, reflux

12h

81%

RCM

O
 

Solution for 2
nd

 question 
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Solution for 3
rd

 question 
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3. TBAF, THF, 0 oC
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Solution for 4
th

 question 
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1. TBSCl, Imidazole
CH2Cl2, rt, 97%

2. PivCl, DMAP, Et3N
CH2Cl2, rt, 24h
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3. TBAF, Imdazole
CH2Cl2, rt, 24h
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1 Swern oxidation

2. vinyl Grignard
toluene, -78 oC

3. swern oxidation
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Comments: 

Tandem eneyne metathesis, Intra molecular Diels-Alder reaction 


